
SECTION A-A
SCALE 1 : 1

POSITION GASKET ON END OF VALVE SO
MOUNTING HOLES ALIGN, SIDE 'B' ONLY

1

1

2

2

3

3

4

4

A A

B B

LIMITS ON DIMENSIONS
UNLESS

OTHERWISE SPECIFIED

2-PL DECIMAL .01
3-PL DECIMAL .005
FRACTIONAL 1/64
ANGULAR 1/2

DRAWN:
SCALE:

DATE:
SHEET:

CHECKED: DATE:
DATE:RELEASED:

TITLE: PART NO.: REV.:

AAA PRODUCTS
INTERNATIONAL

7114 Harry Hines Blvd
Dallas, TX 75235

RMcKenna 2/11/1996
1  OF 1 

KWaite 5/27/2015
5/27/2015HWomack1 : 1

D:
\E

ng
in

ee
rin

g\
Pr

od
uc

t\v
al

ve
s\

As
se

m
bl

y\
LE

VE
R\

sp
ec

ia
l\D

W
G\

33
6V

Y.
id

w

A
3/8" SIDE PORT, LEVER, 2 POS,

SPR RTRN, DELRIN ROD,
REGEN CTR SPL

336VY

THE INFORMATION CONTAINED WITHIN THIS DOCUMENT IS PROPRIETARY TO AAA PRODUCTS AND MAY NOT BE DISCLOSED
WITHOUT PRIOR WRITTEN CONSENT

A
A

PLUG, 3/8-18 NPT, FLUSH SEAL, SOCKET PIPE PLUGV-396217
SCREW, 10-32 X 1/8, SOCKET SETV-504116
LEVER - 336VY - DELRIN, 3/8" VALVECL-1115
SPRING - RETURN, (HO & KO) 1/4" & 3/8" VALVESCS3-2114
WASHER - SPRING CTR, 302/304 STAINLESS STEEL, 1/4" & 3/8" VALVESV-43113
SPOOL - 'D', 3 POS, REGEN CTR, 1/4" & 3/8" VALVESSH3D112
SPACER - CENTERING, W/NO GASKET, 1/4" & 3/8" VALVESSSP3-1111
1/2 DIA ROD LEVER, 1/4" & 3/8" VALVERL-1110
STUD - ROD LEVER, STAINLESS, 1/4" & 3/8" VALVEPBS3-1119
SCREW, 10-24 X 5/8, SOCKET HEAD CAPV-16248
PIN, ROLL 3/16 X 5/8 ZINC PLATED STEEL FOR 1/4 FOOT ENDCAPV-50817
END CAP, FOOT PEDAL, 303 STAINLESS, 1/4" & 3/8" VALVEFE3-116
SCREW, 10-24 X 1/2, SOCKET HEAD CAPV-3745
END CAP, 304 STAINLESS STEEL, 1/4" & 3/8" VALVESEC314
GASKET - END CAP, 1/4" & 3/8" VALVEECG313
O-RING, VITON, STD BODY, 1/4" & 3/8" VALVESV-3962
BODY - SOLID, PLAIN, NO PILOTS, ANODIZED, 3/8" SIDE PORT VALVEB3-2E11
DESCRIPTIONPART NOQTYFLG

123

5

4

14 12

7

10

16

15

6

8

11

9

13

17

17

NOTES:
1) PLUG PORTS 2 & 3 WITH V-396 PLUGS.
2) INSERT 23-3/4" DELRIN ROD AND TIGHTEN SET SCREW FOR USE.

SIDE 'B'

SIDE 'A'

(B)
4

(A)
2

5
(EB)

1
(P)

3
(EA)

A 3/13/06 RMVD IMAGE OF GASKET ON HANDLE SIDE. PL 
NEVER CALLED OUT OUT TO USE A GASKET.

NO. DATE REVISION

NO GASKET

.250 WIDE SPACER  

Delrin Lever - ⚠ WARNING: This product can expose you 
to chemicals including Formaldehyde, which is known to 
the State of California to cause cancer or birth defects or 
other reproductive harm.  For more information go to 
www.P65Warnings.ca.gov.


